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(40 - 1)2 = 1600 — 80 + 1 = 1521 (50 + 1)2 = 2500 + 100 + 1 = 2601
(70-3)(70 +3) =4900 -9 = 4891 (40 + 2)(40 - 2) = 1600 — 4 = 1596







“q .
= /A -—j/\ . R W] -
‘. 2
i % ; x2-14x + 49 | (9-x)(9 +f
: ' . l
I 25 - 10x +x* [4X + 12X +9 9x% - 6X + 1
81 — 18x + x2 |36 + 24X + 4x? _

25 - 5x + K2 | ¢4 S
I







DbIiANMMdCM LWLUdpPUURN
N3 KOPOOKMU
(BbIHOCUM
MHOXUTenb
3a CKOOKM):










r 12%x% + 24x3 - 18x =‘I

‘;i.lﬁl & @I |,

" -6x(2x+4x 3) ‘










~ 3UMHVE 1rpbi:

ae
’ ¢ v/ -

NAIJCARL L

4x3(3x2 - 2x* - 1)
















o
e
!:.
. 3 49
Ar TN
- >

6 - 81x° |,




YraabiBaemMm camMmoCcToATerIbHO!

v:" '.-,.', ' 5 ) ) -—) - _-—




(3+2n)?= 9+ 12n + 4n? (2x— 3)?=4x2—-12x+ 9
(2y =5)(2y+5) = 4y* - 25 (8 +3y)(3y —8)= 9y*—64










yl'lpOCTI/ITI: BbipaN
~camocTosTen Lgo










(x + 6)2 —(x-5)(x+5)=79
Ox(x + 6) (3x +1)* =1




> T ( » —
<
\ '.‘_.

B~ i
4_{ >
'&%XA- i $§

-A










i Ty a&z,;%gg,m LT




:_ DAacKaTau ::.';_,,],‘v' Cz(l c) 6(_c+1) (C 6)(1 C)

(40 1)z IGM 80+1 1521
(70 3)(70+3) 4900 -9 =4891

A (504-1)2 2500+100+1 2601
(40+ 2)(40 2) 1600 -4 = 1596

7"4(3"2" 2" 1) 4x3(3x’ zx4 1) _
(Z'.-|~2n)z 9~|-12n+4nz AMICROY

(2x 3)‘ 4xz 12x+9
.‘_‘2" oAt A +37) 3y -8)= 9" - 64
2x2 - 18x |

-6x-18

[ ‘\'/ -
\ = = ) 7 A ¥ . R . = Y 2 v,
o | ¢ 1 [} ‘l 4 LG )it € B\ | P

-14x -56
x=4




JlomawHee 3a0aHue:
)

-

.
‘ 4‘ .
| \ \
3 N\ 77 .
=N . &5
. ) ’
‘ 2









